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1. g9 Ie=32=1, a1 =3-4=-1 a+5d=26;a+10d=51 = a=1,d=5
a=1,d=-2 oar HTaT AT : 1,6,11,16 ..........

I 15 TSl FT INT = -27

2. HTEF AT =12-18,f=7,cf=9,1=12,h=6
LT = 15

3. WﬁH@T:m—ﬁ:%% FYFT AT T ATAFAT AT = 7 FHY
qEOT 3T T T &%

= 6x(¥SIT)? - %x%x% + 2x§x%x% = 332.5 cm?

4. a=13+12=25,b=35-256=10,c=48-43=5,d=48+2 =50

5. a=2,b=k,c=8
T A s U D=0=b2-4ac=0=k=+8

6. x°-/3x-x+/3=0
= x(x-v3)-1(x-v3)=0
— (x-V3) (x-1)= 0

=x=v3,x=1
qgus o
7. Ifa =T
T
8. HWATHHR fF IATE =t
tan 60° = = t=+3p
tan X = — =2 t
an X = X_\E
= x=30° 60°
“—p——

A

3p

v




9. PTeX TCHFXATNFa IR TIf@U & | 7d:  PT= TC
TQsT TCHFEBA F@ I Tqd<@u g | 7@ TQ =TC
= PT=TQ
¥ TC, PQ &1 T 9% gH{gToT Feal ¢ |

10. .RPQ = 70° ue=g RP = RQ (¥79-v@T0) = RQP = 70°
APRQ # /PRQ =40°
<RPO = ARQO = 90° ( =1 #qef-3@T U< o+ gt g )
aT: LOPQ = 900 - 700 = 200 ; Tt YT 20QP = 20°
= «PRQ= 0OPQ + +OQP

qusd

11. 9T # T FHAT I = ST AT AEAT — &4F 1 aaq = 1980000 cmd
1 12T = 1000 cmd
T 3 A a T Y AT = B - 1980 Hew

1000

9T TAT AAT 6 ATFAT T AT = 1: 36

12. Xfi=a+ b+ 96; Zfx; = 1800+ 60b HTETF a3 = 750-1000, f = 30, cf =48, [ = 750
ffTg:a+b+96=150=a+b=54 g¥ar h =250 HATea® = 766.6
q1eT =91 = 4a-11b =66 g a¥ = 750-1000, f1= 30, £,=8, f=9 ,1 = 750
TAFA I a=44,b=10 h=250 aga# = 872.09

13. (i) a=190000, d = 30000, a, = 420000
an=a+(n-1)d=n=12
(i) n=7 = a, = 227000

14. (i) #WT AT AT WA HIET T =d

tan 60‘5% —d=138.7 fi=

(i) AMTHFRH WA HIET T =b
tan 45°= 22 = b = 240 =

T TAT ATh 6 A1 ol gL

= 240-138.7 = 101.3 fi=z




